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Question: 1

The father of New Economics Is

(A) J.M. Keynes
(B) Karl Marx
(C) Marshall
(D) Adam Smith
Ans: A

J.M. Keynes

Question: 2

The Sabbath (week end) was introduced by
(A) Indians

(B) Greeks

(C) Romans

(D) Hebrews

Ans: D

Hebrews

Question: 3

Population increases ina ___ ratio, as explained by
Robert Malthus.

(A) Arithmetic



(B) Progressive
(C) Geometric
(D) Proportionate
Ans: C
Geometric

Question: 4

refers to the rate of death occurring per
thousand new born babies.

(A) Death rate

(B) Infant mortality
(C) Mortality

(D) Natality

Ans: B

Infant mortality

Question: 5

The growth of an economy is indicated by an

(A) Increase in investment

(B) Increase in savings

(C) Increase in national income
(D) Increase in general prices
Ans: C

Increase in national income



Question: 6

National income as commonly understood by
everyone refers to

(A) NDP

(B) GDP

(C) NNP

(D) GNP

Ans: C

NNP

Question: 7

Nearly 64% of labour force in India is engaged in

(A) Foreign trade
(B) Service sector
(C) Industry

(D) Agriculture
Ans: D
Agriculture

Question: 8

The contribution of agricultural sector to the GDP has
declined to
(A) 26%

(B) 29.7%



(C) 27.9%
(D) 56.1%
Ans: B
29.7%

Question: 9

Which of the following is called as an important agro-
based industry

(A) Jute

(B) Sugar

(C) Cement

(D) Steel

Ans: B

Sugar

Question: 10

Human capital can be increased by investing in
(A) Migration

(B) Education

(C) Health

(D) All

Ans: D

All



